m B Al B KSR R

(BH%)

o % B HE(Keg) HEOG 2 & hE(%) EHEHE
1 * ¥ ~ Y 209, 163 18.0 3 45, 898, 131 6.7 90
2 = ES 1 F 380, 092 13.5 7 31,216, 059 4.5 82
3 = (A : A 271,616 9.6 8 31,113,073 4.5 115
4 A A L & 193, 941 6.9 4 35,241,113 5.1 182
5 |[F A W L & 178,957 6.3 5 33, 308, 020 4.8 186
6 |k ~ ~ 166, 743 9.9 1 84,909, 121 12. 4 509
1 < A c A 140, 574 2.0 14 16, 545, 493 2.4 118
8 (& < & Ly 139, 591 4.9 15 15, 536, 089 2.3 111
9 R F 101, 656 3.6 10 24, 388, 345 3.5 240
10 |72 El 18, 382 2.8 6 32,431,374 4.7 414
11 & w 3 Y 69, 695 2.5 9 25,076, 002 3.6 360
12 'L 3 A 63, 030 2.2 12 20,061, 046 2.9 318
B ,'= = + < k 49, 480 1.8 2 92, 743, 097 1.7) 1,066
41z o & E ¥ 39, 906 1.4] 22 8,032, 932 1.2 201
g — = v 32,248 .1 1 20, 884, 527 3.0 648
6 F 5 1 A £ 5 30, 923 1.1 13 16, 906, 949 2.5 947
17 | C E3 D AN 29,728 12 8, 848, 848 1.3 298
18 | A ES 5 * 28,518 1.0} 30 4,228, 848 0.6 148
19 |, A 26, 969 1.0 32 4,134,094 0.6 153
20 | Z (& 3 23, 453 0.8 25 6, 958, 649 1.0 297
21 |12 5 22,294 0.8 20 9, 345, 263 1.4 419
22 L & C 21,210 0.8 17 12, 440, 453 1.8 985
23 = & 3 AN 13,103 0.5 29 4, 306, 609 0.6 329
24 ' L W f= ¥ 12,718 0.5 18 12,051, 659 1.8 943
25 | 5 E 11,910 0.4 26 6, 601, 230 1.0 954
26 7 @y 3 Y — 11,424 0.4 21 5,356, 917 0.8 469
27 | IZ A 2 < 11,372 0.4 16 13,957, 164 2.0 1,227
28 L » A & < 11,226 0.4 31 4,199, 937 0.6 374
29 | |2 ) — 10, 779 0.4 33 3, 800, 844 0.6 353
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(B 3)

o % H HE(Ke) RO T & @ E (%) TRBE
30 | #& o) < 10, 043 0.4 34 3, 653, 990 0.5 364
31 'L & 5 A H 9,968 0.4 23 1,692,248 1.1 172
32 | & & Ly % 9,042 0.3 35 3,596, 399 0.5 398
3B 7 A N F H R 8,519 0.3 19 10, 552, 307 1.5 1,239
| F Y 1 1,630 0.3 39 2,414, 521 0.4 316
B N A = 1,534 0.3 28 5,294,012 0.8 103
36 | AN Ly % 1,430 0.3 37 3,315, 330 0.5 446
37 b [+ E 0,811 0.2 38 3,056, 832 0.4 926
3 | A# 2 & & 4,359 0.2 40 2,092, 186 0.3 480
39 | A & 3,980 0.1 43 1,721,136 0.3 434
40 | B B =X 3,623 0.1 42 1,805, 746 0.3 498
a1 | L h h 3,082 0.1 53 987, 742 0.1 320
42 | X E3 2,632 0.1 24 1,549, 590 1.1 2,868
8 F Ly 1= [+ 2,318 0.1 44 1,723, 231 0.3 125
4 | D [+ AN 2,291 0.1 54 984, 354 0.1 429
45 | X t ) 2,139 0.1 46 1,593, 540 0.2 745
46 | Hh v H = 1,771 0.1 55 944, 360 0.1 931
47 | F s 2 1,773 0.1 49 1,176, 001 0.2 663
48 | & Y 1,720 0.1 47 1,436,076 0.2 835
9 »n v 7 3 7 — 1,478 0.1 61 939, 190 0.1 365
5 *» F o W 1,464 0.1 50 1,129,572 0.2 172
ot | 1= F o = 1,438 0.1 48 1,242, 648 0.2 864
52 | & L] 1,259 0.0 36 3,517, 475 0.5 2,79
8 T A & S5 T 0 1,17 0.0 64 381, 483 0.1 326
54 |1l ES 2 1,118 0.0 41 1,822, 889 0.3 1,630
o | D H o OE 998 0.0 68 252,072 0.0 253
5 | & & 2 & 184 0.0 62 451, 440 0.1 576
57 | W F A 780 0.0 51 1,006, 258 0.1 1,29
8 T ¥ v L v b 7150 0.0 52 999, 972 0.1 1,333
5 12 A 12 < F 546 0.0 63 419, 688 0.1 769
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(B 3)

£

s & Z HE(Keg) RO 1 & R FHEE
60 | z 5 13 530 0.0 65 366, 714 0.1 692
61 £ — S 464 0.0 56 922, 968 0.1 1,989
62 L L &S AL 429 0.0 57 907, 524 0.1 2,115
63 | 1= =) D F 372 0.0 45 1,672,185 0.2 4,49
64 ¥ v v al— L4 342 0.0 66 342,144 0.0 1,000
65 = ¥ X A &£ S 271 0.0 58 869, 832 0.1 3,210
66 | & &£ 3 ) 262 0.0 59 120, 252 0.1 2,749
67 | — 7 5 190 0.0 60 101, 216 0.1 3 691
68 Ea 2 147 0.0 67 262,710 0.0 1,787
69 | & 1€ & 125 0.0 73 119,016 0.0 952
0 € A ~ 4 ¥ 10 0.0/ 70 143,100 0.0 2044
n | =) [0} 65 0.0 7 141, 588 0.0 2178
2 L z 54 0.0 69 196, 430 0.0 3,638
3 % =) ES & 44 0.0 72 136, 188 0.0 3,09
L ] 36 0.0 74 97,308 0.0 2,703
% | b & [0} 8 0.0 75 63, 396 0.0 7,925
% F A BT A 8 0.0 76 17,928 0.0 2241
mi&E S5 N b L 1 0.0 77 2,030 0.0 2030
1 TOMEEXRSE 20, 458 0.7 1 9,766, 270 1.4 471
2 = 0o £ Y HE 1,215 0.3 4 1,281, 204 0.2 176
3 TOMmEHn 3,211 0.1 2 2,205, 563 0.3 686
4 = 0o it R X HE 157 0.0/ 5 429, 440 0.1 967
9 TOMEFDOTIYE 066 0.0 3 1,619, 152 0.2 2 861
6 = ot R X 8| 58 0.0/ 6 108, 356 0.0 1,868
T % o f H X 24 0.0 7 13,764 0.0 3,074

31 X & 2,824,117 100.0 687,046,452  100.0 243
(RE)

o % H HE(Ke) R T & #E E (%) THBE

[IPAN + + 239, 959 14.3 3 417,910, 511 6.5 200
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(BR=)

o % H HE(Ke) RO T & @ E (%) TRBE
2 |\ v C H 214,297 12.8 1 249, 585, 295 33.7) 1,165
3 Y A Z H 211,924 12,7 2 66, 982, 360 9.0 316
4 (& e & < 83, 055 5.0/ 6 17,066, 214 2.3 205
o | H M A & 44,999 2.7 5 18, 720, 504 2.5 416
6 = i} 5 35, 683 2.1 10 6, 601, 824 0.9 185
7 WA 7y TN 35, 476 2.1 8 71,901, 260 1.1 223
8 FO4A4 7N —-Y 33,917 2.0 4 19, 593, 652 2.6 578
9 NLooT7HLIY 28,371 .71 12,083, 926 1.6 426
10 | W ES n ~ 26, 387 1.6/ 1 5,931, 684 0.8 225
" |9 L ) 20, 020 1.2 9 6, 885, 324 0.9 344
12 5 A 1= A 12,415 0.7 15 2,160, 432 0.3 174
13 b E v 11,011 0.7 13 4,407, 842 0.6 400
14 TJL=7I)L—-v 10, 336 0.6 14 2,685,476 0.4 260
1| A O v H 6, 236 0.4 12 4,823,712 0.7 174
16 5 & 5 & 3,422 0.2 16 1,450, 332 0.2 424
17 r=—TLA LD 1,135 0.1 18 366, 876 0.0 323
18 U H 172 0.0 17 938, 272 0.1 3,129
T £ o # M B 8 645, 845 38.6| 1 260, 814, 903 35.2 404
2 ZTOMEFERTRE 4,653 0.3 2 3,052, 620 0.4 656
3 o o B O=E 3,015 0.2 3 1,061, 792 0.1 352

ES = H 1,672,334 100.0 740, 624,811 100.0 443
(859, MT&)

i & B 8 (Ke) bR TN & g HE (%) TRBIE
T % * L 34,102 48.6| 2 3,837,245 20.3 113
2 5 R & 18, 304 26.1) 1 5,075, 595 26.8 2717
3 2 A 1z v (< 2,450 3.5 6 620, 763 3.3 253
4 - I 3 o F 1,344 1.9 4 994, 766 5.3 140
5 3 L AN & 1,229 1.8 3 2,111,013 1.2 1,718
6 = ® I mIm 618 0.9 8 361, 735 1.9 985
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(BEN, MMIT &)

£

o g 8 ME(Ke) HEOG I & @ HE() THEME
T ™A £ S5 WD 592 0.8/ 5 107,789 3.7 1,196
8 % * K & 470 0.7/ 7 496, 045 2.6 1,095
9 AN e) & 3 421 0.6 9 289, 330 1.5 687
10 81 F £ v 2 A 107 0.2 10 171,731 0.9/ 1,605
(AR =2 3 18 0.1 1 118,476 0.6 1,519
2 F L W = it 26 0.0 12 82,339 0.4/ 3,167
1 TofmIRE 4,979 1.1 2 1,090, 276 5.8 219
2 £ O M I M 3,094 4.4 1 1,283, 513 6.8 415
3 T oM I ¥ x 1,943 2.8 3 1,061, 557 5.6 546
4 T 0 fthFz R EF X 194 0.3 5 196, 561 1.0 1,013
5 T DOMmEBERRE 152 0.2 4 426, 924 2.3 2,809

EWM. mMI&E 70,103 | 100.0 18,925,658  100.0 2170
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